~ SECONDARY SCHOOL EXAMINATION - 2025 |§
. weEfm wE wer-205 32O
L |[pmamesel L (ARNUAL fiatibaie i b Eéj e
Quesé.;:r:: : ;: et : . i -. g % =
= | . MATHEMATICS b e

o
L
S

s

Subject Code :

S T : 100 + 30 + 8 = 138
Total Questions : 100 + 30 +

(§99.: 38 15 ).

£

5t
o
2

3

4
G

et

S

>,

answers in their own words
as far as practicable.

3 Figures' in the right hand margin
indicate full marks. \ :

4. 15 minutes of extra time have been
- allotted for the candidates to read
the questions carefully.
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gr O This question booklet is divided into

two sections -
Section-B.

In Section-A, there are
100 objective type questions, out
of which
are to be

Section-A and

any 50 questions

50 answers will be evaluated in
case more than 80iguestions are’
answered. (EBach) guestion _camieé
1 mark. Forhanswering these
darken the circlewith blue / black
ball pen against the correct option
on ©MRMANSWer sheet provided to’

Gou. Do, not,use ‘whitener / liquid
\/blade / nail etc. on OMR-sheet,

‘otherwise the result will be
"\ treated invalid.

. In Section-B, there are 30 short

answer type questions, out of
which any 15 questions are to be
Each question carries:
there
type

ety

2 - marks. Apart from these,

are &8 long answer

questions, out of which

4 questions are to be answered.

Each question carries 5 marks.

Use of any electronic apphances i

- strictly prohibited.

answered. First '
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Tﬂﬁﬁ-l'l%' ¥ / Objective Type Questions
re
= v wT I#IOOHE?%‘HW%WWW%FW?W#WWE??!
g &ﬁsomﬁmmmﬁwwﬁﬁmaﬁonmyﬁzwﬁﬁw
st B Tl _ 50 x 1 =50
£ _Question Nos. 1 to 100 have four optzons out of which only one is correct.
e
P Answer any 50 questtons You have to mark your sélected option on the
e OMR-Sheet. 50x 1 =50
c _ : - _ : . :
1 1. Tt 9 fog P& 9@ W PA W PB.Q et 18 @) A
2 ' - PA=8%Mi @ PB= :
& () 6uH
c) 12%H

B) 8cm .

(A) 6cm ‘_
D) el
o ﬁgPﬁ%om@IQﬁm@%ﬁﬂéwﬁ%@m%
‘ = 80° Fﬁ.APOA =
.. (B) 50°
(@F 802" | (D) 60°

If PA and PB are the taﬂgents drawn from an external point Pto a

circle with centre at O and ZAPB = 80° then ZPOA =

(A)  40° - C(B)  50°
[€)" 8@z - - (D) 600 *
| SS/A/605 | ~ Page 3 of 44
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3 @Wf@ﬂ%ﬁ@w@%ﬁﬂémﬁ@ w3t fog ¥ 5|cht~‘rrﬁqm| BNl
g HH-HT B TG 8 ?
M o80e 2 B) 45°
€ ey | = )  g0e
What is thelangle between the fangent drawn ét any point of a
circle and the radius passing through the poin’g of contact ? .
(A)  30° - (B) 45°
[C). o (Dj. 90° | :
4. ‘qbfi?ﬁ‘aﬁﬁwaﬁwaﬁqﬁ 3: 4%?1’:?1%5 &AL 1 I B
(R)SE 3754 B) 4:3 |
i()}r 9:16 (D) 16: 9
The ratio of the radii of two circles is 3 : 4 ; then the ratio of their
 areasfs
(A)I % 2 B) 4:3
€ Y9:16 _ .(D) 16 : 9
San I s e Cl %3 ?qu Brerge fEsT $E9 I 30° B, B 856 2 '
(A) 515 a2 | (B) 416@&12 '
(C) 4622 (D) 406 §Hi?
| SS/A/605 | ' ' Page 4 of 44
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. ratioof .théir radii is s \
© 25:49 Q 49:25
; ""7sec A-="7tan A{

The area of the sector of a mrcle of rad1us 42 cm and central angle
30°is -

@) '-‘51'5 cm? t = B em e

(€ 462 Emie e (D)' 406 cm?

aqa’lﬁqﬁhzﬁaﬂagms 7%?ﬁ3ﬂﬁﬁ@1ﬁﬂ?{w%

(C) '25:_49- Tt ) 49 25\

cﬁs 155 7 then the- ic

The ratio of the' Qifcu‘mfer.encc-:s'of 3

\QO O
~ 3ﬂ“{y bs1n9?ﬁb2x +aly?=

(B) ab
© a*? | D) a2+ b

If x=acosb and_y=bsin9 then b2x2+a2y2=

@ e’ B ab

(C)' a*p? L e

"|T¢33/A/605 | @ : 9_4 ng,- : Page 5 of 44
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9. U HHR % 9§ 7 I B0 38h 9ie § 10 A FH gl W 60° 7, @ HER
S R '
(A) 101ﬂ' | ' (B) 104371
(C) 15J3H | (D) 2043 Hi

The angle of elevation of the top of a tower at a distance of 10 m

from its bdse is 60° ; then the.height of the teweris
(A) 10m ' (B) 1043m
©) 1543m . (D/W.20y3 m

10, TF T A 30 # H S K s SR g & 60° F A

AT 2, 1 SR i AT 8
@) s0zd N TE) 35/EH
© 20V3 iﬁ"' . @) 452

A kite'ispa atha height 30 m from the earth and its string makes an

anglé®0° with the earth. Then the length of the string is
(A) §30/2m . .B) 85/3m e
L (C). 20¥Bm - (D) 45J2 m
11, i siaUei 2-5,5-8, 8- 11, ... % Wl I TR @
e :' ® 3

c 4 B (D) 35

[ ss/A/605 |- > Page 6 of 44
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The length of the - class intervals = of the classes,
D5 588 isl

e « n G

@ it e 2 -(D)'- 35

o R = e R e e 63, A g W &

@A) 45 | @ 9.\ 2 &
R

© 21 S LB

If the mean of four consecutive odd

number is . : e \
we o @

béfs is 6 then the largest

- (B) 6
(D) none of these
14. 1l+cot?@ =

A sin?0 . (B) cosec’®

_.'we/tanQ 0 (D) sec?6

[ ss/A'/605_J o - Page 7 of 44
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&Z%}%%&SﬂéEﬁ@ﬁ%
) S0 DR S
© 8 Nt
The mode of 8, 7, 9, 3,9, 5,4, 5,7, 5 is
(a) 5 B
Cc) 8 .(D] 9
afg P(E);o-oza‘r P(E') SUSK & |
@A 002 00O (B) 0002 -
© 098 95'5% i, &7
If P(E)=0-02 then P(E').is equalyto
(&) 0-02 ' (B)./ 0:002
(€) 098 D) 097 =
2 e W o e B ST R S ST 3 i g A
i w1 2 2 g '
+ _-3% Q B %.
Q. = D) =

Two dice are thrown at the same time. What is the probability that

[110]

the-diff,ei'ence of the numbers appearing on top is zero ?

® 3¢ B ¢
5 | ; 5
B = S

| ss )A/E:OS»J

Page 8 of 44

18.

19.

~l



110 ] . i ' ' [110}’
18. ﬁﬁlﬁtaﬁwﬁ?ﬁrmﬁﬂ&aﬁaﬁwﬁm% i
T

: | -r"ﬁ\-jk\

Wl e @

_ The probab111ty of getting heads on both the coins in throwmg two
coins is E 6
@ s 5

Co|
at.
Al - 1 .
. @/ Lo . B Coos il BL
@ 2 Dy - =
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The probability of gettlng a number 4 or 5 in throwmg a die is

@ L B 3

21 aﬁeﬁ%mmwm 125%?&3:1%‘1@21%3%1‘165!3@13%
@) 258 % _(B)' 25 : 6NN
(€ 16:25 ’ Eﬁﬁﬁéﬂ‘é’f

The ratio of the volumes of two spheres is 64 125 Then the ratlo_

of their surface areas is

A)  25:8 = | (B) '!'?25: 16

© 16:25 RS’ 1) o oneof these
S é’r%aﬁaﬁrﬁwaﬁwaqgmct 58 Td ITeh! HeTgdl 1 I 6 731
| ﬁmﬁamﬁwm% -—f@;g 5l €52 h
(8) | 96,125 (%’5‘///0)“ 96 : 175 L%
“@ " L7 B: 96 (D) 20k 63

“The radii of two cylinders are in the ratio 4 : 5 and their heights are

in th‘e ratio 6 : 7. Then the ratio of their volumes is
() 96195 B) 96:175
ey ivs %6 : (D) 20:63
23 Rﬁwwmﬁww%wéo '

a  R® _ %Bf//énR
s}ch ' -~ (D) 4nR o
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24.

25."

. [110]
What is the total surface area of a hemisphere of radius R ?

(8) =R B 2:r?
(C) 3nR2 T (D) 4nR2

aﬁ%&ﬁ%%wwm%o@tﬁgéaﬁrﬁw 14@1’&%?1%311@
fodier g 2

(A) 10 &t (B) 20@1‘ﬁ
(€ 0= @ soanﬁ

If the curved surface area of a cone is 880 cm 2 and its radius is
14 cm, then its slantheightyis
(A) 10cm p (B) 20cm

(€) 40 cm QA (D) 30cm

ﬂﬁwm%mﬁﬁm zfﬁﬁ%aﬁsﬂ%\s#ﬂ‘ﬁmﬁ%

(A)ag. 2 A ; \)/zf@tﬁ

™3 @n"f ) ! D) 4wR

If the length of the dlagonal of a cube is 2J§ cm, then the length of
'1ts edge is

(A Zemi - . (B) 2/3cm
e D) 4cm

| SS/A/605 | ' _ . Page 11 of 44
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26. %@ﬁmwﬁﬁmgﬂmﬁaﬁm%qyéﬂm%ﬁ%%q& AAHT T

- ToeT T B s »
@ e (B IR
© B | (D). SRE T
If the edge of a cube is doubled then the total surfacel area will 29.

become how many times of the prevmus total Surface area ?

(A)  Two times (B) Bour times
(€ Sittines 4. . (O etV tirnes
27 %ﬁﬁﬁ%ﬁwmaﬁwﬁﬁw%wa@ﬁé%ww%ﬁw
Sl ATE
@ 2 \ . (B 4:9 e |
. ' A B i 36
Cri3:2 Q@ = (D) d5e : |

The @atio of the total surface area of a sphere and that of a

hemisphete having the same radius is
(A) .2:1 _ " (B) 4:9
€ 82 D) 4:3 . ' | 3
28 ﬁ%a"r@hﬁ%a?qaﬂa &S 1232 3012 R, o sweh frswr 2
@) 7R . UB) I a A
© 213# | | (D) 28 |
| SS/A/605 I . _ Page 12 of 44 : -
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30.

31.

5 [ 110 '

If the _cﬁrved surface area of a hemisphere is 1232 cm.2'thér'1_' its

radius is
(A) 7cm (B) 14cm
(€] 2lfemi el (D) 28cm

?ﬂé cos0+cos20=1d sin? 0+sin? 0 %TIIF{% -
) il O AEE

Eions s e N

If cos 9+_(:032 0=1 then the Value of sin 0+sin? 0 is

e NN\

(e o : §oy 2
1+tan® A __

1+cot2A
Ve N By v
(C) © cot?A : . (D) tan?A

A A(0,1), B(0,5)T C (3,4 )fed aaBC % ¥ &, & AABCH

e (TR ) §
A 6 B) 12
© 6 e by

[ Ss/A/605 | G A . Page 13 of 44
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; IfA(0,1), B(0,5)and C(3,4) are the vertices of any AABC,
* then the area ( in square unit ) of AABC is .
- (A) 16 R B) 12
(€) 6 (D) s

32. tan 10°. tan 23° . tan 80° .'tan-67° = el @9 0. Y a=: 5957

- '33. R Tsy Bl & &l i O 1 44 7, Tl SRl T SISl

- (A} 10k8 { (B)
: ok 0 | (B)f 1or 13-

flareas of two similar triangles is 100 : 144 then the

@ o

icorresponding sides is
B 12:10
© Siope R e 2D ‘1_'-0_':'1_3 |
34. : W@ﬁam%@ﬁmaﬁﬁkﬁamaﬁ%@ﬁaﬁ%%
W dm B _
o w0 vEIWET

[ss/a/605 T e Page 14 of 44
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AABC. [110 ]
A line which intersects a cn'cle in two dlstlnct points is called
(A) Chord : (B) E:ecant
[C.j, Tangent : - (D) None of these
35, awﬁgﬁaﬁwwaf 9%343%13%1%33%&%3%‘1%
0 6_9@', Wm BT 235 = :
' B)ito a MST-"_
© 81:16 D) 2 WY "
The corresﬁonding sides of two similar fr-iangles are in the ratio
4:09, What will be the ratio of the areas of the trlangles B
RIS @i o B s : 81
) " siiie & ./ by 2 .3
36. AABC ~ ADEFH%HBC sﬁrﬁ EF = 4@nﬁélﬁm3cw%aw
54 ¥ 2 &, A ADEF?H %W%
A) 56 ﬁtﬁz . (B) 96&H?
thes Q) o6 N (D) 49 di2
S G ADEF and BC = 3- cm EF = 4 cm. If the area of AABC is
»"::54 cm? , then the area of ADEF is
S(A) " 156 om? (B 9%cm?
(C) 196 cm? (D) 49 cm?
37, el Bw ABCH A= 90°, BC= 13 3, AB= 12 ?fu}a’r ACI TH 2
S gl
E - (C) ‘5u#H i ( 6 |t '
44 _ | ' =5_ 15
| SS/A/605 | - . \\ - AKB')Q*#\CQW_ Page 15 of 44 -
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i In any AABC LA = 90° BC=13 cm, AB— 12 cm ; then the value of
ACis
(A) 3cm RS (B) 4cm
(C) S5cm - i+ (D) - 6cm

38.

39.

[ 1107]

ADEF a1 ,_,APQRﬁ fear @ 6 «D = zQ @ }_'R= ZE, @ frefefea &
HH-41 98 8 ? |

R e B) ZF =40

(C) «D=«P (D) ZE=xB'
In ADEF and APQR it is given that #P = ZQ and ZR = ZE, then

which of the following is co.r_reét ?

(A} LE=2P W ro0

(C) 4D=/P A® ) sE=2P

AB_BC NcAN: e
AABC W ADEF;HW%%E e e ._40,

ZBf= aowh ZF A9 g
a) 30° (B 45°

(C) 60° _ . (D) 40°

AABC and ADEF are such that ABCBCG _1CA and ZA = 40°,

_ .DE- \EF DF
/B = 80°; then the measure of ZFis

(A)  30° _ - (B)  45°

(©) 60° Do

| Ss/A/605 | ' . Page 16 of 44
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value of

Req o

then

4.00

802, -

42

[ 1104

40. @ sivedd oe ) v Yol B T
e ' B2
© 5 oy

The number of common tangents_bf two intersecting circles. is

AT o SRR

. (©) 3 - (D)
41,  =fe fedt o 3¢ @1 5 9 96 11w

@ 1

If 5th term of . isM1 and éommon difference is 2 then what

is its first term P

Q E o

m

'El A1 1 AN né+2n+1 %?ﬁs‘aa;{6aq3% -

() 29 S _
" a5 Ei (D) ¥ T

" The sum of an A.P. witﬁ n terms is n?+ 2n_.-+’-1.: then its 6th term is
Ay 29 e - ® 19

NS . (D) none of these

[ ss/a/605 | _ S - Page 17 of 44




- ' . 110
43, Pt # w w2 o

,[,94/ limoite = (B) 2 B g
I'(C‘} x, 2%, .3x,'_4x_, | ‘{D] o7 42, 621 82

Which of the following is in i >

2 .3
@) -1,7,9,16, ... B) x ,xé
(C) x 2k 3 R 22
44, P 8w wm A @ e
| _[A-).- Iio)a 4,.-.._. Iz
(cj 2,4,6,8, ..
; Which of the followirigi not_mani&.?. 2
() 1,2,3,4, (BjR3.6,9,:12, ...
i (D) 22,42 62 82, .
45, - , 7, 10, ... % ¥ 20 T 1 ATEA &
B) 540
(© 590 (D) 690
' The sum of first 20 terms of the A.P. 1, 4, 7, 10, ... is
(&) 500 B/ 540
(C) 590 - 6 (D) 690 |
| ss/a/605 | | Page 18 of 44
. 3

. L

G &
i

47.
/.’

49.




[110] -.‘-

| . : : 110 ]
- 46, ﬁmﬁiﬁaﬁ%ﬂmml%wéo e Caa i | s
| (A‘)- .sin:_z- 60° + cos éq" = Min ‘90°_‘;< cos 90°
(©)  sin260° | . : [.D) sm4‘5.x 1
s S cos 45
‘Which of the followmg values is equal to 17 0
(A) 0 éo +'qqs60 o '(3)_ oo 0s90°
| -(C)_._-s‘i'r‘l260° " R
. ; ._ | .\__ ‘ o \ cos 45
'4'_7.. cos A(1+tan A]
: Sln A { (B) _Ic;osec?'A_
" : (B] %E :
o 1
: 49. z
2 s
."'(__C) % o 1
44 | LéSjA'/GOS SR o T T Pageilo of 44
r Sl e . e S o




J P | e e [
/Sc/sin29o,"-tan245'°= L 2 mhe Teare oy YU

(©) —J—lé_- 0 O

S1. 9 (8'sin 60°, 0) 7o (0, 8 cog 60°) % i 1 oft &

I£0.(/0, 0) be the origin and co-ordin
then the distance OPis . :

(B) Wx2 -2 (B) e

ates of the point P be (

X" +y

~(C) - x? -y? (D)  none of these

[ss/a/605 ] o =

X Y)
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. | 53. y~33[&113ﬁ|73(12 14)@?@% \Q:) )r\lb\vq_‘ )

‘\(M/lg Ehed et g \D‘Dr)r 7\\
© e ol | | ".'(D’ - s i

" The dlstanc.e ofthé point (12, 14) from the y-axis PR
e o~ B 149 0 _

-54-.'_ fomg ('—.6,—'8 ) I B

" and
(&) -6
@ 6‘ ' N ms
i ordinate o thint(—&—S) is
s ) -6Aé "B -8
(@Q c i DB
/53@-4)%@[%?&%13%? '
) @ wm | @ e

f E \(9/‘@"‘1 - .. _(D)_-ﬁﬁéf'_u

‘In which quadrant does the point ( 3, -4 ) lie ?

(A) First P (B) Second
5_4_4“-- ' s ()T (D) Fourth
[ sS/A/605 | o . " Page2lof 44
4 o %




B0 - | 1o

/50/ Wﬁﬁ—m%%aﬁmﬁ@m%?

57.

s ) -@/32)

(C) (3=_2) . . (D) (—‘3’-_2)

Which of the following points lies in second quadrant ?

@) fesi B (-3,2)

© (3,-2) o D) (52 |
famgatl (4, - 4) 3 (-4, 4) @ﬁaﬁmﬁi@@v@:%uwﬁg%
e & :

A (A - ® | (0, 09x

(C) (0—4) (A A § 40)

The co- ordmates of the mid-point of the lme segment joining the
points (4, = 4) an_d(—{},t})are I

@) (4.4) A9 (B (0,0)

(C) (O--—4) h - - (D) (-4,0)

158 %@@U@AB%wwﬁ@'(z 4)%3ﬁtﬁ§A%W(5 7)%?ﬁﬁﬂ

;%ﬁvmﬁﬁ%
GERE ® (1,-1)
© (-2,-2) © (-1,1)

The mid-point of line segment ABis (2, 4) and the co-ordinates of

point A are (5, 7 ), then the co-ordinates of point B ére‘ :
A (2,20 ® (1,-1)

© (22 W) )

[[S8/A/605 | : - Page 22 of 44




T [110]
- Tondll 971 < =™ % R % Fdwi® (10, -6 ) AU (-6, 10 ) € W@ T4 F

g o [4CeT &

@) 8 (2.2)

©) (=29 B2

The co-ordinates of the enclsI of a diameter af a citcle are ( 10, - 6 )

and (=6, 10 ). Then the co-ordinates of -tﬁéﬁrﬁgeﬁifre of the circle are

o @ (-2-2) . . @ (N
©) (Qz;z')_' (Dl 2, -2)
60 aﬁ:wﬁgﬁ%sﬁﬁ%ﬁ%mﬁm 6),(0,4)3R(5,5) s“rmﬁgsr '
g the %W%ﬁ%mﬁ? | | | | ‘ \ie
@ (53) Q9 = B (34)
(O 4 ® (3,5)

Gl

(&)

WQQXSQ D e

The q_c;i-"biic;iiﬁéftes of the Vertice_s of a triangle are ( 4, 6. ), (0, 4) and ‘
- (459 5)°then the co-ordinates of the centroid of the triangle are

W (s,3) L B sy

e =54 _ D) (3,5)
FrfcTRaa | SiH-a1 P 1 GIHeTd JER € 8 ?

14
20 « 32

Er ORI
51x7’2
S

(B)

22 x53

| SS/A/605 | - Page 23 of 44
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[110] IEI (

Which of the following fractions has terminating decimal
expansion ?

14 9
(A) (B) _
' 20 X 32 51' X 72.
8 15
(C) el S (D) ——
22 % 32 ; 22 « 53

— P F w0505 I forar sEsar s

on 5
. 101 104
() (B) sadiin
_21 x52 ._21 x53.
- 101 VU1
CE = jro W Ak
4 22 xE')2 L 23 XSQ

In the form of — £ , 0:505¢an be written as -

IS
101 : 101
A (B e
! . 2lxs2? 2l x53
| 101 = 101
o) @0 : D)
= 22 52 ®) 23 x 52

63. G GeiieAa=bg+r ¥ b=4,g=5 S r= 1A o % AH FTE ?

\W/QO' : @ 21 OOy
K | AR
g = Bl a0

If in division algorithm a=bq+r, b=4, g=5 and r= 1, then what

is the value of a ?

(A) 20 R (B) S
(C) 25 | (D). 31
. ['ss/a/605 | | | | ~ Page 24 of 44
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[1 10 l

[ 1"1.o-l-j? | : | :
! decimal 64 a@@r%w% ]

1,3

0 e st e
_ ;;bc-ﬁ“q':’gi'q"*? e
€)= 1,=3 (B) +=11,=3

The zeroes of the polynomial 2x% - 4x-6 are

@ e ) -1,9\0.
€ 1,-3 () 3

R 65.

. : , (B) 2x2%+7x+6
_ o M L
= = 4 o
l | (C) 2x +2x+ ] x} =
| what ~ Which of the following is not a polynpmial P
W 2 b B ol
©) %xz +%—x-{~4_ : (D) _-x._+%
of 44 [ss/A/605 | | ' ' Page 25 of 44




\(Q}/x—.2x+4l I(DI) _{c_+J'8'_ _ B =

68.

sl Tah.’ : O S | =
i = O Dy e o iy

CR e i e e ['1101-E
freerfen # fre e TER S EH 2 W -28° _ ;

@) x2+4 s . B)  x2-4

Which- of the following quadratic polynorn_ials has zeroes

2and-27? 5 If on
: : the ¥

(@A) x2+4
. o

(©) xg —2x+4
<

If o and‘p.lare the zerdes of the polynomial 2 +7t+10 then the

(A) (B) “10e= - 8 A

A e =B (D) -10
- : -x : ° z o 2 o . : 72-
69. (sin30 +cos30 )—(sin60 +cos60.) = _

S5

i 60
Ao 2 FR
[ss/A/605 | Page 26 of 44 a2




- = AL B e
!rﬁﬁsrmagqa[k—-11x2'+kx+__1r$rqmw—4;aa‘t k =1 °H 8

W -3 - o® 2
. Qs =2t : -4
e o

3 zeroes

kx+1 is — 4 then

7k

i (A) 60{ ®
len the ' ‘D) 10

\t value of k, roots of the quadratic eq{la'tion kx? —6x+1=0
real and equal ? |

B 8 |
€. 9 T m) 1D . e
: 79. .-qﬁa@ap(x):mﬁw-zﬁ,ﬁﬁﬂ%ﬁgﬁﬁﬁ p(x)El-f[_Q_%r
o e _ '-_MQ
i € x-1 A D) ]
of 44 £= T meh e _ : _
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; [ 110] -
If one of the zeros of the polynomml p(x) is 2 then wh1ch of the
following is a factor of p( x) ? :

@A)y x-2 _' e - (B)  x+2 _ ; &
@) il s D)  x+1

73. aﬁ;'agqa cx? +ax+ b % T o R B EL WL p 1 A 3

o |Q
|
Q

- (A)

If o and B be the zeros of the pdlyﬁomaal ex? +ax+b then the value 76. T
of a. B is ' |
s 3
Gy = |\ \B ==
© 2 § o -b
74:  Trfolen St aeor & o
() SREMx=3) =243 ®)  (x+3)2 24(xs) 7.

(9)/(-7-2:;*2)2 =4x2 47 (D) 4x+741£=4x

Which of the following is a quadratic e'qliatiOn ?
A (x+3) (x=3)=x?-4x3(B) (x+3)2 =4 (x +4)

(©) (2x-2)2 =4x2 17 (D) 4x_+11£=4x

" .| SS/A/605 | ' G Page 28 of 44




[110]
hich of the

the Vé{lué

of 44

| = o [110]
75. foefafea & @ 9 fgam wfieon = @
Mx-x2=x2.+3 - B) x2-x%=(x-1)3
©) (x+32=3(x2-5) (D) (V2x+3)2=2x>+5
: Which of the following is not a'quadratic equation 2
(A) 5x-x2=x2+3 - (B) -—:-.x2'-=.-;:(\_.x_'—=1)3
© (x+372=3(x2-5) (D) ((¥2x®3)°=2x"+5
76. ﬁ{EI'I'd EIﬂEF(W éxz —_'7x+l6=0..--‘=|~7r_ ﬁl%ﬁﬁl;% ' é A‘ e )
A4 e ek RSB - £ a A
(C) . 27 L (D). 237 G — 59
Q. - . \
The discrimihantief the quadratic equation 2x2 -7x+6=0 is
ALNWQ - Bl =i
(C), 27 s (D) 37
77. fean § w9 fig x= 2 % dERE R ?
B0y T B (20
© (Z2) D) FRAWE
Which q.f the following points lies on the graph of =12
B ot s B (2
_ © (22 - - (D)  all of these
| ss/A/605 | _ '_  ‘Page 29 of 44




| e [ TIOTRSSS o
78. -aﬁp+1,zp+1,4p—1m%€rﬁ§?ﬁpaﬂm% | - il
@ 1 L o 9
() 43 © 4 .-
If P+ 1, 2P+ 1, 4P- 1 are in A.P. then the value of Pis | B
@ 1 | B 2 _ o @
- G e (
79. WA AL 1, 5,9, ... FTWE AR E g3 3
@ 2 | k.
o
0. |

84.

h term of the A.P, 5, 8, 11,. 14, is 38 ? T \L\ :

S _ 39 :S"\—'Lm ”\) ;

(&) 10th B) 11h - o

' ¢ + (%8 i)

(€©) 12th (D). 13the s =5 - _ ) :

e — oy

81. sin(90 —4) = i e )
_ | _ ;
) = \LB‘J/COS_A_ S8 -

(C) tanA (D) tsec Ale &

[ ss/a/605 |
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' 82.

afe oc_=ll3,=_6-'0.° Gkl .cos(_oa;s)?m oH B
@ S
F(Q/,O )

s

-- V) 84.
.89

my L eiamlsr o3ty
e S Do e
©1£6 = 45° then the%m 0+cos@is -
._(é‘&)_ 75- { 1 (B) .“5_ :
e, = 0 b
qﬁ&?ﬁ———gm FAH

If o p= 60°'thén.-.th¢jvéme of cos(a—B) is

(A)

G2y 00
i —
2

e

1 A s : 4
() i0s s = L. 0 | '
af¢ 0 = 45° B dl sin 6 + cos 6 H1 H 2 \ .

, 1-tan® A
EV) 2tan 30° (B tan60°
)L (€} 2tan60°: " (D) tan 307
'\) \L\ If A = 30° then the value of _2‘&_&11_5_4__ is
: : 1-tan“ A
B B) 20an80° - iy i(B) ten60°
(C) 2 tan 60° : (D) tan 30°
E‘SFZZ .: | Ss/a/ 605 = Page 31 of 44




e | . e 51 | ['110]i
: -\pa :
85. 3fg tan@:%‘s‘r?ﬁ sin 6 %1 7+ & P +b , s =
S | S es) |
_ 5 ' . 12 |
Bt | By = =S »Q/S % L
' \6 9 |
© 2 e o |
CF D) = B 55 ' !
If tan8=% then the value of sin 0 is |
® > \ |
S e
cos59° tan80° .
> b eng
; .
w = L5
- |
: e 3 |
5 0 . .
© _ i Dle |
® e - ‘ _ ;
87 Elﬁ{\ x tan65° = sin A B AFR U E 90
i I, O5° _ == (B) 65°
(©)  90° | - m) g
If tan25° x _tan65° =‘_sinA then the value of Ais
(A) 252N, (B) . 65°
(C) 90° (D) 45°
| SS/A/605 | Page 32 of 44 ~
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[1101/- el T e | [110]

o ‘& EIﬁcos@ x?ﬁtan@—

; ‘2 > A -' .. 2
. IEdb ot ol I="x

( A 3
o c G
E Ml—xg

i If cosB= x thén_ t‘an9=__' )

|

f ) _."/1+x2

e (C)
Pl _
‘, f 89. (1- cos49) = {Q i
: (A)  cos? @ ' sm 6 (1+cos? 0)
{ . ©e. —sin? e) (D),_ sm. 0 (1+sin?0)
. |
- 90@ %@ﬁﬁ@mww%o ;
@ (30) . (__B} (2, )
Gl D) saﬁﬁ.@éazﬁ -

What is the form of a po_ii'it lying on y_-axis ?
(A (oRONE e Bl ()

| (©)F (0, x) (D) None of tllllese .

20f44 ;_
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92

Frfeiiae 3 & fre Ty wgue % Y% 3T - 10 8 ?
(A)  x2+7x-30 ' .[_B) :;2—72—30

C) x%+7x+30 D) x2-7x+30

Which -of the following quadratic polynomials has - zeroes
3and-10? |

(Aj x2 +7x ﬁ-.s,o - . (B). xR 30

(€  x2+7x+30° (Dj" 2@ 7430
aﬁ%&%%&ma@a%waﬁvﬂw sﬁéﬁw-zé,ﬁ%
A) x%-3x—A (B) 2 —8x+3

) x> —-z'x-;_rs _ D) x2asx—2

Ifhthe ‘sum of zeros of a quadractic polynomiél is 3 and their

“product is — 2 then that quadratic polynomial is

@) x°-3x-2 SR x%-3x+3

© x%2-2x+3 D) x2+3x-2

afe p(x) —x%—2x3 +17x% —4x+30 @ g(x)=x+2 _ﬂ:-mﬂﬁmm%
A TETES T UG 2
(A) © B) 3

© - e D) 5

[ Ss/A/605 2 Page 34 of 44
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110/ ey | | Lo o SRl
If p(x] 4 2x +17x2 = 4x+30 is d1v1ded by q(x) x+2 then
the degree of the quotient i 1s -

B8 | "_-(Bj 3

. ) 4 —
1as  zeroes G (D) S

35 x+2y+3=0, 3x+6y+9 0 %mﬁwsﬁﬁ ?
B) THEm i ﬁé%awﬁ
© whmw o @@%’?é’f
2 7, 98 ) How ma.ny solutions will x+ 2y+ =, 3x+6y+9 '=Q have ?
(Aa) - One..é.olutio._n _5 ) |
(B) No 'soluﬁon ! _'
(E)- Inﬁmtely many ‘solln:‘mns
and their (D) 'None of;thesfé‘S“

05 2 e % v 7 i ol e dn

U™ 1 B 2 |
(O s D) FEIASE A

If the graphs of two linear cqi.;aition's are parallel then the number

: of solutions will be
(C) infinitely many - . (D) none of these
2 Of-44, ESs/ees e . Page 35 of 44
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155 | | [11_(_)1“

96. %Iiwaﬁwwgm 5x-4y+8=0 W 7x+6y-9=0 & 5
(Ai S - - ®) s 3
&) SRR (D) T | I T
Thé"pair of linear equations 5x-4y+8=0 énd 7x+6y—9':=0:'is_ >
(A) _ consiétent = - (B) | inconsisten£ !
iC] dependent (D) .ho_ne'-df these

o7 af foure W 3x% - 5x+2=0 Mg o@ b & A o +p 1 HH

e % o

If o and Bgrare,roots of the quadratic equation 3x% -5x+2=0 then

tHe,value,of 82+ [32 is

98. zrﬁﬁ;’zrramﬁam 2x2—7x*p=0'WQ$ﬂ§-2_&>f%ﬁpaﬁm%

(A 4 - B) -4
Do e bk .
[ss/A/605 | ; _ Page 36 of 44 -




[1-1.015 i ' g = [110]
If one root of the quadratic equation D T~ p=0 is 2 then the

value of pis

Ay 4- ae Bl =4
t > s .
_ ) -6 (o)) o
Lo-0is | SERUNE S e S :
¥ §90 aﬁiiﬂiilﬂﬁw 2x“-x-6=0 W@ﬂ@\?‘[?% 33:['{[11?[%
4 A== 2
; © 3
SRRCaRCICE- S
+2=0 then
100. - Ix2 — 6x+3=0 % el hI TR TR ?
. (B) dIrfys T AN
D) FHH HIS Tl
,. ' : What is the ﬁature of the roots of the quadratic equation
o | 232 - 6x+3=0 ? '
(A) real and unequal (B)  real and equal
(C)  not real "' (D) noneofthese
'360f44 . = | SS/A/605 | = |  Page 37 of 44
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wug - ¥ [ SECTION - B

_ - g S e/ ‘Short Answer Type Questions
m#w-z#soam'_agaaﬁwm?rsaﬁ#ﬁaﬁ‘ 1’5@%3??%117&#
-m%—%trzafm'ﬁafﬁwé‘f | = 15x2=30

Question Nos. '] to 30 are Short Answer Type Questwns Answer any

15 questions. Each question carries 2 marks 15 x 2 30

)/ ﬁi@?ﬁ% 1+cosB 1+c038. &
\Jl cos 0 sm@ _ \
' Proucthat ’1+cose‘=1-+_cose S5

> 1—cos6 sin 0

5 fyg % tan9° . tan27° =cg

Prove that tan 9" :

3. A cosA#% gl

W T =L R arﬁwa‘m 365 Bl

WO consecutive positive integers, sum of whose squares

"sﬁw%%ﬁmﬁw%@

The dlfference of squares of two numbers is 180. The square of the

smaller number is 8 times the larger number. Write the equation

for this statement.

[SS/A/605 | e - Page 38 of 44
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[ 110] | el
6. MWPQRﬁaﬁﬁsaﬁtTWaﬁPQmﬂPRmm wm%

f¢ PS_PT g1 /PST =/PRQ, 2 firg Wt F5 APOR T TR

s : _ SQ TR
I g %ﬁa 2
1 = E :
9 x2=30] In a triangle POR, two points S and T are on the s1des PQ and PR
An : 7 :
Swer dny | . . respectwely such that g5 BS =§£ and £PST =£PRQ, then prove that
APQR is an isosceles triangle. ©
7 ﬁ%w%wwﬁm7ﬁrﬁ®
o B 1 Al T ﬁt |
8.
inute hand for a clock is 7 cm. Fmd the area'
9., i g & tan 7° . tan 60° . tan 83° = J3. :
e | . ‘Prove.that tan 7° . tan 60“ _tan 83° = Jg K [\ Q g
= - 100 few® - _J3 wh ameE T Rl %O O
bl z @Oo
' Prove that S — J3 isan 1rrat1ona1 number. Sl i
. 11 k%mw%mﬁ@(l 1. (3 k)aﬂ((-—l 4)@%@%9
are of the
equation For what value of k points At (8,.0c) and (-1, 4 ] are
P o : collinear ? .
S -~ [ss/aze0s | e Page 39 of 44
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13,

“14.

Sl

16T

76

18.

[ 110]

o R T X g T St Regat (6, 5) 3 (-4, 3) F WHGEA

a |
Find such a point on ny—éxis which is equidistant from the points
(6, 5)land (=4, 3 )2 '

@7nﬁaﬁmwa§m3mwmm%aaﬁmmwﬁﬁﬁ

-aﬁﬁmaﬁaﬂlzﬂaﬁﬂmﬁwm%

A ladder 7 m long makes an angle of 30° with the wallk Find the
height of the point on the Wall where the ladder touches the wall.

@WWABCDE& gmADas‘q%mqt.Eqsﬁﬁ@%qa BE,
CD®! F W Jfresq il & d s #{ . AABE =3 CFB.

E is a point on the extended paxt df_-‘the. side AD of a paraj-lelogram'
ABCD and BE intersects CDiat F ;ithen prove that AABE ~ ACFB.

ABC % iy eRmAGNS ® R 2c w3 fig w R

AB? = _QAC? ;

ABC ié an isosceles ﬁght triangle with ZC as right angle. Prove that
AB%=2AC% '
e e, B0 S TR 2% ~24/2x +1=0 & T T B

Using quadratic formula find the roots of the equation

2x —QJ_x+1 =0.
S R0 . +67$rzﬁnqu—asrmﬁ|

Find thesumof3 + 11 + 19+ ... + 67.
gfe et 597t 341 &1 5 91 W@ 9 af ug HAN: 43@79%?&%%‘@

Hd L

[Ss/a/605 | Page 40 of 44
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1107

ints

3L,

l=19.

20

21

228

23.

24.

[110]

== == =50 terms of an A.P. are 43 and 79 respectlvely, find the

gi= .aﬁﬁqwﬁﬁwmmm 504 T1 1188 %1 ToHo A |
Us== Euclid's vision algorithm, find the H.C.F. of 504 and 1188.
== =HHW 2x2 +5x-3=0 %ﬁﬁa&mﬁaﬁt il Tﬁ%ﬁl‘lﬂﬁﬁ .

!

R
T
o

'#L

= S . ® ..
Sind the discriminant of -the quadratie \equation 2x2 +$5%-3=0

-
=

2nd find the nature of the roots éw‘:___ %
=% o * TR S S gt (-~ 1, 7)3ﬁ'{ (4, -3)ﬁﬁaﬁa1é‘r
TEEE Bl 2 s%agmaﬁ“",,,_ﬁﬁﬁam%l | |
Find the co- 0rd1na1;@$ of ;rhe point which divides line segment
joining the pomts%{ “’?alf 7)and (4,-3)in theratio 2 : 3 internally.

ﬁaﬂw %‘arwwi_;'ﬁa%sﬂﬁ%ﬁi‘sﬁ — s e =5

The d1agonal of a cube is 9J§ cm. Find the total surface area of

cube. -
25 3 tan_e=% 2 4l sin 6 + cos 0 1 WA TG F|
CIf tan 9‘=%then find the 'v'alue of sin O + cos 0.
| SS/A/605 | Page 41 of 44
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26.

2

[110]

af¢ sin3 A=cos(A - 26°)'€f'\?@ SA@:agroﬁw%aﬁAwrrmmam

If sin3A= cos(A 26") where 3A is an acute angle, then find the

value of A.

amﬁwﬁwsoéﬁwﬁéwm@ﬁﬁ {[rﬂ%

' ?ﬁﬁ@mﬁﬁﬁl

28.

29

30.

The sum of two numbers is 50 and one numbér is % times of the
other ; then find the numbers. |

AB = AC 91} U SH{gaTE AABC i 92 TSI CB W ¥ E W fig
21 3f¢ AD 1 BC 3R EF L AC ?, dWiG &t (% AABD ~ AECF R

E is a point on side CB preduged of an isosceles AABC with
AB=AC.If AD 1 BC @ad ER\L AC, prove that AABD ~ AECF.

Th AABC %I 49 _AB 31 BC T WIfSNH AD Th 3= APQR i

g1 PO IR PR T WfRHH! P AN WHEAR § a1 fig Wt

- 7% AABC ~ APOR:

Sides$”ABtand \BC and median AD of ‘a AABC are respectively .

proportlonal to sides PQ and PR and medium PM of another APQR.
Then prove that AABC APQR.

AABcam_ ADEF 9H&J 8 U1 S S31%eT SHAT: O U2 qu1 64 92 &

aﬁDE=5-1ﬁn°r€m“rA_Ba1aﬁl

AABC and ADEF are similar and their areas are 9 cmzand 64 cm2

respectively. If DE = 5-1 cm then find AB.

| SS/A/605 | Page 42 of 44
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‘“:_ e W
[110 1
J [ 110
Ta | - B . : . [ ]
: == =mtd U39 / Long Answer Type Questions :
nd the F : | : x 7 : : 2
UYT GEm 31 = 38 3" SO 9 21 3 9 fER 4 vl & s ) v
1 3 W & =% 5 5= Huina g1 4x5=20
Question Nos. 31 to 38 are Long Answer Type questions. _Ahswer ahy
"4 ques:'-::r= Each question carries 5 marks. 4x5=20
b thé 31, == S0 W x+3y—-6-0 T 2x - 3y»—1»2- 0 1 e @9 e

vely -
OR.

8

! - 9

A
i
§|;

2x-3y-12=0 and solve them .“-"If\--'_

32. mﬁ%uﬁ%ﬁ%mwﬁm@i%%qmﬁw%wzﬁaﬁt
= HIU B aNd HA | YSTE STTATieh B 1 BIY e9ey 8 2

If one angle of a, trmingle is equal to one angle of the other triangle

and the 51des ::ncl: : ded between these angles are proportional then

338

A two digit' number is four times of the sum of its digits and twice
- the product of its digits Find the number.

76%@@%@@3@%@13@5 a%wﬁﬁmﬁaﬁﬁlaﬁ
HTYi I ATYT|
Draw a line segment of length 7-6 cm and divide it in the ratio
5 8. Measure both parts. '
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as fug e (80087 1A00) g pan2p-2sech tand.
. 5 - (secB+tan9) . -
Prove that (sechztant) 1+2tan28—-zsece .tan 0.
(secH+tan0)
36. aqﬁaﬁﬁwqm 19ﬁtﬁaﬂ19©ﬁ§lsﬂ§ﬁ@ﬁwmﬁ
Ww&%?’aﬁqﬁﬁ-mﬁ%ﬁﬂ%mél
The radii of two circles are 19 cm and 9 cmy respectively. Find the
radlus of the circle which has cxrcumferenee equal to the sum of
the c1rcumferences of the two cn'cles
37. ﬁmﬁaﬁaﬁ s w e T
ot st | 11-13 | 13-154A15°0y | 17-19 | 19-21 | 21-29 23-25
| ST 7o o | 13 190 5 4
Find the mearny 5f the following distribution :
“Class QMT"T5-15 | 15-17 | 17-19 | 19-21 | 21-23.] 2825
interval i, - _ : _
Frequency (b’ 7 6 9 13 20 5l
38. %W%mﬁaﬁrﬁﬁ%ﬁé4ﬁnﬁ%msﬂ%ﬁaﬁﬁ%w

(afere) 18@tﬁaﬂteﬁnﬁlmmmmmmﬁi

The slant height of a frustum of a cone is 4 cm and the perimeters
-(circumferences) of its circular ends are 18 cm and 6 cm. Find the

curved surface area of the frustum. '
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